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Goniometrické vzorce

• sin(α+ β) = sinα cosβ + cosα sinβ,

• cos(α+ β) = cosα cosβ − sinα sinβ,

• sin 2α = 2 sinα cosα, cos 2α = cos2 α− sin2 α, cos2 α+ sin2 α = 1,

• cos2 α =
1 + cos 2α

2
, sin2 α =

1− cos 2α
2

,

• cosα cosβ = 1
2 (cos(α+ β) + cos(α− β)) ,

• sinα sinβ = 1
2 (cos(α− β)− cos(α+ β)) ,

• sinα cosβ = 1
2 (sin(α− β) + sin(α+ β)) .

• sin 0 = cos
π
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• cosnπ = (−1)n, sin(2k − 1)
π

2
= (−1)k+1, cos(2k − 1)

π

2
= 0,

Integrály

• ∫ eαx cosβx dx =
eαx

α2 + β2 (α cosβx+ β sinβx) ,

• ∫ eαx sinβx dx =
eαx

α2 + β2 (α sinβx− β cosβx) ,

Substitúcie

• tgx2 = t, x = 2arctg t, dx = 2 dx
1+t2 , sinx = 2t

t2+1 , cosx = 1−t2
t2+1 ,

• tg x = t, x = arctg t, dx = dx
1+t2 , sin2 x = t2

t2+1 , cos2 x = 1
t2+1 , sin 2x =

2t
t2+1 ,

• k

√
ax+ b

cx+ d
= t,

ax+ b

cx+ d
= tk, x =?, dx =?,

• a > 0,
√
ax2 + bx+ c =

√
ax±t, ax2 +bx+c = ax2±2
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• c > 0,
√
ax2 + bx+ c =

√
c±xt, ax2 + bx+ c = c±2

√
cxt+x2t2, x =

?, dx =?
√
ax2 + bx+ c =?

• x = % cosϕ, y = % sinφ, Jg(%, ϕ) = %,

• x = % cosϕ, y = % sinϕ, z = u, Jg(%, ϕ, u) = %,

• x = % cosϕ cosϑ, y = % sinϕ cosϑ, z = % sinϑ, Jg(%, ϕ, ϑ) = %2 cosϑ.


